AP Calculus FRQ’s

Sketch a function that satisfies each of the following conditions:
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Given the function f defined by f(x) = In (x% - 9).
a. Describe the symmetry of the graph of f.

b. Find the domain of f.

¢. Find all values of x such that f(x) = 0.

d. Write a formula for f ~*(x) , the inverse function off, forx > 3.
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Given the two functions f and h such that f(x) = x® — 3x* — 4x + 12 and
e Lix-3) =
h(x) = {h(x) == forx #3 and p for x = 3} (K
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a. Find all zeros of the function f. .7 N
x*(x-3) - %(;&32 O° [K=2,-2
b. Find the value of p so that the function h is contifuous at x = 3. Justify -

your answer. (.Y x-2)(x ¥ -2) = (>\ 2 xv 2) h\ ) (’3 Z\BJ‘Z = 5

c. Using the value of p found in b, é<ete?r>m|ne whether h is an even function. ._E_:_L
Justify your answer.
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A function f is defined on the closed interval from —3 to 3 and has the graph
shown below.

a. Sketch the entire graph of y = |f (x)].
b. Sketch the entire graph of y = f(|x]).

c. Sketch the entire graph of y = f(—x).
d. Sketch the entire graph of y = f G x).

e. Sketch the entire graph of y = f(x — 1).
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